



AGENDA ITEM EXECUTIVE SUMMARY

Agenda Item:	Resolution Authorizing V3 to Construct and Manage the South Street Culvert Replacement		
Presenter & Title:	Richard Babica, Director of Public Works		
Date:	October 2, 2019		
Please Check Appropriate Box:			
<input type="checkbox"/>	Committee of the Whole Meeting	<input type="checkbox"/>	Special Committee of the Whole Meeting
<input checked="" type="checkbox"/>	City Council Meeting	<input type="checkbox"/>	Special City Council Meeting
<input type="checkbox"/>	Public Hearing	<input type="checkbox"/>	Other -
Associated Strategic Plan Goal/Objective: EMS-2			
Estimated Cost: \$205,850		Budgeted? <input type="checkbox"/> Yes <input checked="" type="checkbox"/> No	Other Funding? <input type="checkbox"/> Yes <input type="checkbox"/> No
<i>If "Other Funding," please explain how the item will be funded:</i> Fund balance within the Infrastructure Fund			
Executive Summary:			
<p>At the August 19, 2019 City Council Meeting, the Council authorized the execution of a Emergency Superstructure Replacement Proposal- Part I by V3 Engineering to design and specify necessary repairs to restore the South Street culvert between Burgess Road and Southampton Drive. Upon completion, V3 would submit Part II to perform permitting, construction and construction management for consideration by the City Council. Attached for your review is a proposal to complete Part II in the amount not to exceed \$205,850. This proposal includes all expenses associated with restoring the culvert and roadway to service, excluding site restoration, which will be completed by Public Works staff in the spring of 2020. The roadway will be re-opened on or about November 20, 2019 with construction activities continuing through the spring. Due to the unforeseen failure of the culvert, which necessitated the closure of the roadway, staff is requesting that the City Council waive Competitive Bidding in accordance with the Code of Ordinances for the City of Geneva 1-8A-8-H to restore the roadway in an expeditious manner.</p>			
Attachments: <i>(please list)</i>			
<ul style="list-style-type: none"> • Resolution • V3 Proposal dated 09/27/2019 			
Voting Requirements:			
<p><i>This motion requires 7 affirmative votes for passage.</i></p> <p><i>The Mayor may vote on three occasions: (a) when the vote of the aldermen or trustees has resulted in a tie; (b) when one half of the aldermen or trustees elected have voted in favor of an ordinance, resolution, or motion even though there is no tie votes; or (c) when a vote greater than a majority of the corporate authorities is required by state statute or local ordinance to adopt an ordinance, resolution, or motion.</i></p>			
Recommendation / Suggested Action: <i>(how item should be listed on agenda)</i>			
Respectfully recommend that the City Council waive competitive bidding and authorize the City Administrator to execute a Construction Services Agreement with V3 Engineering of Woodridge, Illinois in the amount not to exceed \$205,850.			

RESOLUTION NO. 2019/: 9

**RESOLUTION AUTHORIZING THE WAIVING OF COMPETITIVE BIDDING AND THE
EXECUTION OF A CONSTRUCTION SERVICES AGREEMENT WITH V3
ENGINEERING TO REPAIR AND REPLACE THE SOUTH STREET CULVERT
BETWEEN BURGESS ROAD AND SOUTHAMPTON DRIVE**

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF GENEVA, KANE COUNTY, ILLINOIS, as follows:

SECTION 1: That the City Council waives competitive bidding in accordance of the Code of Ordinances for the City of Geneva 1-8A-8-H to expedite repairs to the culvert and re-open the roadway in an expeditious manner.

SECTION 2: That the City Administrator is hereby authorized to execute, on behalf of the City of Geneva, a Construction Services Agreement with V3 Engineering of Woodridge, Illinois to conduct repairs to the South Street culvert between Burgess Road and Southampton Street in the amount not to exceed \$205,850.

SECTION 3: This Resolution shall become effective from and after its passage as in accordance with law.

PASSED by the City Council of the City of Geneva, Kane County, Illinois, this ____ day of _____, 2019

AYES: __ NAYS: __ ABSENT: __ ABSTAINING: __ HOLDING OFFICE: __

Approved by me this ____ day of _____, 2019.

Mayor

ATTEST:

City Clerk



To: City of Geneva Address: 1800 South Street Geneva, Illinois, 60134-2547	Contact: Brian Schiber Phone: 630.232.1501 Email: bschiber@geneva.il.us
Project Name: South Street Bridge Replacement Location: Geneva, Illinois	Ref #: B19-125 / 19313.02 Date: 9/27/2019 Rev. Date: 10/1/2019

V3 Construction Group, Ltd. proposes to execute the following work:

SOUTH STREET BRIDGE REPLACEMENT		
1.10	GENERAL CONDITIONS	\$ 26,516.00
1.20	DEMOLITION	\$ 30,730.00
1.30	GUARDRAIL & HANDRAIL CONSTRUCTION	\$ 48,740.00
1.40	BRIDGE CONSTRUCTION	\$ 99,864.00
NOT TO EXCEED PROPOSAL TOTAL:		\$ 205,850.00

Project Notes:

- 1.0 This is a not-to-exceed price proposal based on quantity and unit rates herein.
- 2.0 This proposal is valid for 30 days from the date of estimate above.
- 3.0 This proposal specifically excludes: permits, special insurance (waiver of subrogation, pollution liability insurance), and handling or disposal of hazardous materials or non-hazardous special waste material.

Payment & Contract Notes:

- 1.0 Net payment is due upon receipt of invoice.
- 2.0 Invoices unpaid after thirty (30) days will incur a finance charge of three percent (3.0%) per month.
- 3.0 Final payment, including any retained monies, is due immediately upon satisfactory completion of the work and receipt by purchaser of the final invoice.
- 4.0 Purchaser warrants that he/she has the authority to make this agreement.
- 5.0 This proposal constitutes the entire agreement between the purchaser and V3 Construction Group, Ltd.
- 6.0 This contract is limited to the work identified. Any additional work will be agreed to by change order and made a part of this agreement.
- 7.0 This contract shall be interpreted under the laws of the State of Illinois.

This estimate is based on drawings prepared by V3 Companies, Ltd. titled "City of Geneva South Street Bridge Replacement" with the plot date of 09/19/2019 and no noted revisions.

ACCEPTED: <i>The above prices, specifications and conditions are satisfactory and hereby accepted.</i>	CONFIRMED: <i>The above prices, specifications and conditions are satisfactory and hereby confirmed.</i>
Purchaser: City of Geneva Signature: <u>Benjamin Melozady</u> Printed Name: Benjamin Melozady Date: 10/8/19	Seller: V3 Construction Group, Ltd. Signature: <u>Michael Faugeloth</u> Printed Name: Michael Faugeloth Date: 10/10/19



To: City of Geneva Address: 1800 South Street Geneva, Illinois, 60134-2547	Contact: Brian Schiber Phone: 630.232.1501 Email: bschiber@geneva.il.us
Project Name: South Street Bridge Replacement Location: Geneva, Illinois	Ref #: B19-125 / 19313.02 Date: 9/27/2019 Rev. Date: 10/1/2019

1.00	BRIDGE REPLACEMENT COMPLETE	QUANTITY	UNIT	UNIT PRICE	TOTAL
1.10	GENERAL CONDITIONS				
1.11	QA/QC (TSC)	1.000	LSUM	\$ 5,000.00	\$ 5,000.00
1.12	Traffic Control (Ped. Walkway Remob)	1.000	LSUM	\$ 2,600.00	\$ 2,600.00
1.13	Mobilization (Demolition Contractor)	1.000	LSUM	\$ 8,266.00	\$ 8,266.00
1.14	Construction Layout & As-Built Drawings	1.000	LSUM	\$ 7,300.00	\$ 7,300.00
1.15	Site Sanitary Facilities	1.000	LSUM	\$ 850.00	\$ 850.00
1.16	Performance & Payment Bonds	1.000	LSUM	\$ 2,500.00	\$ 2,500.00
1.20	DEMOLITION				
1.21	Bituminous Pavement Removal	600.000	SF	\$ 2.50	\$ 1,500.00
1.22	PCC Sidewalk Removal	120.000	SF	\$ 4.00	\$ 480.00
1.23	Pavement & Bridge Sawcutting	1.000	LSUM	\$ 1,200.00	\$ 1,200.00
1.24	Guardrail Removal	100.000	LF	\$ 12.00	\$ 1,200.00
1.25	Deck Beam Removal	1.000	LSUM	\$ 22,750.00	\$ 22,750.00
1.26	Pedestrian Deck Removal	52.000	LF	\$ 56.00	\$ 2,912.00
1.27	Handrail Removal	1.000	LSUM	\$ 610.00	\$ 610.00
1.28	Sign to be Relocated	2.000	EACH	\$ 39.00	\$ 78.00
1.30	GUARDRAIL & HANDRAIL CONSTRUCTION				
1.31	Bicycle Railing Complete	52.000	LF	\$ 370.00	\$ 19,240.00
1.32	Steel Plate Beam Guardrail TY-B	50.000	LF	\$ 40.00	\$ 2,000.00
1.33	Long Span Guardrail	100.000	LF	\$ 37.00	\$ 3,700.00
1.34	Traffic Barrier Terminal SPL TAN	4.000	EACH	\$ 3,700.00	\$ 14,800.00
1.35	Pedestrian Walkway Installation	1.000	LSUM	\$ 9,000.00	\$ 9,000.00
1.40	BRIDGE CONSTRUCTION				
1.41	Concrete Superstructure	29.300	CY	\$ 2,000.00	\$ 58,600.00
1.42	Rebar - Epoxy Coated	7,360.000	LBS	\$ 2.25	\$ 16,560.00
1.43	Bridge Deck Grooving	25.000	SY	\$ 180.00	\$ 4,500.00
1.44	Sidewalk Remove & Replace	100.000	SF	\$ 19.00	\$ 1,900.00
1.45	Protective Coat	26.400	SY	\$ 35.00	\$ 924.00
1.46	Asphalt Patching	1.000	LSUM	\$ 14,500.00	\$ 14,500.00
1.47	Pavement Marking (4" Epoxy)	160.000	LF	\$ 18.00	\$ 2,880.00
1.48	Topsoil Furnish & Place 6"	23.000	SY		By Owner
SITE EXCAVATION & GRADING TOTAL:				\$	205,850.00

